
×

＜筆算＞ ＜筆算＞

×

× × ＝
たて よこ 高さ

答え：　　                  ㎥

体積

②
式:

× 2 2 ×

1 6

たて よこ 高さ 体積

＜筆算＞ ＜筆算＞

日にち：　　　月　　　日

名まえ

・次の立体の体積は何㎥でしょうか。

①
式:

× × ＝

③ 確認

３

1.6 2.2
1.3 m 2.2 m
1.6 m

1.3

5.6 m

4 m

1.7 m

.

.



たて よこ 高さ 体積

＜筆算＞

日にち：　　　月　　　日

名まえ

・次の立体の体積は何㎥でしょうか。

①
式:

× × ＝

＜筆算＞

3 5
× 2 2 × 1

1 6

0 5
3 2 3 5 2

3 2 1

②
式:

× × ＝

3 5 2 4

たて よこ 高さ 体積

＜筆算＞ ＜筆算＞

5 7
答え：　　4.576 ㎥

6 8 4

6 8
× 4 × 5 6

1 7

2
3
6

6

答え：　　38.08 ㎥3 8 0 8

0 8
3 4 0

③ 確認 答え

３

1.6 4.5762.2
1.3 m 2.2 m
1.6 m

1.3

1.7 38.0845.6 m

4 m

1.7 m

5.6
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